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B] i3 3m] ;28 AT 297 371 415 786
EARI1TH 1,035 1,211 1,305 2,516
mAET2TH 1,210 1,106 1,427 2,533
A R ET 2,271 2,392 2,636 5,028
BERT1TH 513 532 597 1,129
B EET2T H 416 430 487 917
B ERI3TH 326 381 359 740
B ERT4T H 522 501 526 1,027
B ERSTH 831 930 947 1,877
I ER6TH 368 400 433 833
HiF = HT 529 620 665 1,285
45 KHT 460 540 540 1,080
HHT 1,001 1,153 1,269 2,422
BEHT 60 62 65 127
A K BT 625 757 762 1,519
7 HT 433 457 466 923
RICET 476 522 554 1,076
FORHET 201 216 237 453
RFHT 214 225 252 477
KHET 373 354 405 759
KET1TH 235 271 208 569
XKET3TH 281 335 320 655
XETATH 870 840 1,032 1,872
fit] LLI BT 2,335 2,779 2,912 5,691
JE LT 1,238 1,562 1,666 3,228
EHERISTH 424 555 552 1,107
EHERT4TH 357 426 471 897
EHERSTH 320 369 455 824
EHERI6TH 213 284 256 540
EAERET7TH 159 235 235 470
=Y:i 327 362 412 774
¥ [F HT 1,540 1,471 1,742 3,213
=i ET 491 537 614 1,151
2l 3t BT 472 622 594 1,216
N =15 102 120 129 249
+HEFRT 652 679 729 1,408
L EFHTER 834 758 834 1,592
L HAET 2,077 2,353 2,491 4,844
LFH¥AET1TH 75 126 123 249
LH¥\ET2TH 159 166 190 356
RT3 T H 149 152 174 326




HEZ HH 5 £ i
L¥AET4 T B 161 170 205 375
LHAETS T B 206 278 290 568
I == HT 219 221 255 476
JOSFET1TH 520 524 570 1,094
M=rET2TH 554 556 570 1,126
JO=rET3TH 428 440 415 855
M=rET4T H 1,116 1,149 1,186 2,335
I S5k T 586 614 679 1,293
I=F5di) 238 248 272 520
Jt Bl BT 30 39 40 79
(4] 427 391 396 787
R T 784 932 989 1,921
FHRHET 76 89 99 188
i 2 FF T 365 418 467 885
BEFE1TH 84 104 116 220
BEFE2TH 267 325 333 658
T EHT 128 152 148 300
/N BB BT 3,038 3,193 3,421 6,614
1R T 266 299 326 625
YEF HT 728 757 796 1,553
EXBI1TH 254 251 266 517
=/7 LLHT 238 176 135 311
Hh ek HT 20 21 5 26
T A EHET 10 12 10 22
THHEE1TH 694 691 727 1418
THHEE2TH 520 592 566 1,158
THHEESTH 734 728 843 1,571
TEHE1TH 199 197 185 382
TEHRI2TH 801 786 901 1,687
TEHRISTH 164 178 183 361
TEHRI4ATH 82 83 96 179
TEHRISTH 239 246 268 514
T HAET 645 703 725 1,428
THET1TH 332 357 362 719
THET2 T H 446 461 473 934
TH#RBI3TH 194 203 235 438
THBTATH 146 144 173 317
HTAEHET 19 18 8 26
T 192 189 198 387
#8)11 BT 43 47 55 102
RKIH 302 329 360 689

e K HT 1,723 1,821 1,995 3,816
LS 253 330 322 652
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HEZ HH 5 £ i
XLAT1TH 859 853 1,029 1,882
KELAT2T B 306 346 363 709
X LUAT3T B 151 164 176 340
1 [ BT 51 68 81 149
hHET1TH 336 369 422 791
hHET2TH 451 491 542 1,033
hHEI3TH 450 555 536 1,091
niEld:) 258 257 290 547
th 2 JEHT 233 225 266 491
ch T 127 130 173 303
TR AHT 736 880 884 1,764
At A ET 870 923 1,072 1,995
PN 773 1,009 1,039 2,048
75 2 [N HET 1,636 1,859 1,997 3,856
A 782 784 885 1,669
SFHEAT1TH 520 471 532 1,003
SFHEAT2TH 422 406 473 879
$FHEAI3TH 204 219 227 446
| BT 416 484 506 990
YHET1T B 364 455 486 941
HET3T B 337 373 412 785
RET4T B 120 114 145 259
J\ & T 977 1,110 1,158 2,268
J\HHT 169 224 232 456
+ A ERT 276 337 371 708
AR 2,398 2,568 2,708 5,276
THB1TH 23 26 22 48
THAR2TH 1418 1,382 1,401 2,783
TAR3TH 182 178 179 357
THR4TH 371 315 391 706
THARSTH 937 707 972 1,679
THAR7TH 326 375 426 801
T4HBISTH 374 419 433 852
THRBOTH 402 480 540 1,020
T4B13TH 296 354 388 742
AR NBHET 1,885 1,722 1,971 3,693
HARRHET 1,272 1,216 1,267 2,483
HEARK/ERET 286 378 398 776
HEARICEHT 158 168 186 354
HEARKEHET 139 131 145 276
H ARG HET 204 235 272 507
N ] 441 468 520 988
E ARl 321 368 402 770
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HEZ HH 5 = 5
EHARE)IIET 284 275 305 580
HAREAH 116 132 143 275
FARITH] 91 89 112 201
HEARERHE 669 566 643 1,209
B K R HET 377 416 A11 827
Edsa] 885 914 1,031 1,945
BEFET1TH 754 757 783 1,540
BEFET2TH 587 619 701 1,320
BRFEISTH 338 408 409 817
AIFFRT1T B 420 394 444 838
AIFTET2T B 573 611 674 1,285
AIFTET3T B 584 708 726 1,434
A HT 187 214 207 421
B LHT 203 270 290 560
NELE) 815 851 919 1,770
ERL 701 914 899 1,813
= HHE 1,713 1,974 2,096 4,070
HEXHRET1TH 562 654 676 1,330
HELTIRET2TH 523 630 667 1,297
HLAREISTH 299 398 384 782
P fx T 324 392 422 814
mERI1TH 1,178 1,145 1,311 2,456
mERI2TH 828 957 1,082 2,039
FA T 1,338 1,450 1,624 3,074
= RITET 511 505 550 1,055
= AHT 365 307 364 671
AR#HT 9 8 5 13
=) 489 582 550 1,132
SHA1TH 711 669 841 1,510
S HHET2TH 398 438 476 914
S HAI3TH 858 792 955 1,747
S HAT4TH 788 695 905 1,600
E& T 2 2 0 2
J\BRET1TH 203 274 268 542
J\BRET2T B 258 268 250 518
J\BRET3T H 240 297 292 589
1T HT 288 444 431 875
FHEIBRT1 TH 143 172 183 355
FHaEIRT2TH 302 441 471 912
FIaIET3T B 11 26 17 43
ENOER1TH 0 0 0 0
EDER2TH 0 0 0 0
ENDERI3TH 21 21 0 21
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